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The World's Mou htains

- the Protection of the Environment
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» Kilimanjaro WO rd S ine'

» Tanzania

» Equator - skBaTop

» |lce cap — negHMKoBasa Lanka

» Source- UCTOYHUK

» Satellite - cnyTHUK

» Melt - Taatb

» Affect - BNuaATH

» Global warming - rmobanbHoe notenneHne
» Deforestation - ypeamepHas BbipybKa necos
» Cut down - BbipybaThb

» Maintain - nogaepXmBaTb, COXPaHSTb

» Precipitation - BbinageHne ocagkos

» Increase - yBenuumeatb

» Reduce - ymeHblLaTh

» Loss - noteps, yobirb

» Tropical region - Tponnyecknun pernoH
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Write down the word you heatr.

1. Kilimanjaro is in northeastern Tanzania

In East Africa
2. It's around 220 miles south of theeguator in a
hot, tropical region of the world.

3. Over the years, thousands of people have
travelled to Tanzania to climb the majestic

mountain .
4. Unfortunately, for the last 100 years, the snows
of Kilimanjaro have been disappearin .

5. Since 1912. Kilimanjaro’s_alaciers have
become more than 80 percent smaller.
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Complete the answers to the
guestions.

1. Why is Kilimanjaro’s snow melting so quickly?

Because the mountain is in a tropical regionand because of one
type of climate change called Global warming. Deforestation IS
another possible reason.

2. What problems would the loss of Kilimanjaro’s glaciers

cause”?

It would remove an important source of water for the people
who live on or near the mountain. It could also probably
reduce the number of tourists  that come to Tanzania.

3.What do the missing snows of Mount Kilimanjaro show
people all over the world?

 They definitely show people all over the world the dangers
of climate change and deforestation .




Read the sentences and mark T(true) or F(false) for
each sentence. Correct the false sentences.

1. Being in a tropical region puts Kilimanjaro’s ice
caps at risk.
2. Global warming is a type of climate change.

3. FCooler temperatures result from deforestation.
4. Cutting down trees leads to less rain and snow.
5. F Kilimanjaro’s glaciers are melting very slowly.




Questions

e \What Is the main idea of the film?

* \What should people do to protect the
snows of Kilimanjaro?

e \Would you like to climb Kilimanjaro?
Why?




Rewrite the following passage in the passive.

Somebody sent me a bunch of flowers. The
man from the flower shop delivered them to
my house. He told me that they were a
present. A young man had ordered them. He
had put no card in the flowers. | still don’t

know who sent them.
Answer

| was sent a bunch of flowers. They were delivered to
my house by the man from the flower shop. | was told
that they were a present. They had been ordered by a
young man. No card had been put in the flowers. I still
don’t know who they were sent by.




Fill in the active or passive form of
the verbs in brackets.

Mrs Wilson is a rich young woman. She (1) lives (live) in a big
house on the outskirts of the city with her husband and her two
dogs. Every day Mrs Wilson(2) is taken (take) into the city centre.
Her car(3)is driven (drive) by the chauffeur. She then (4) 99es (go)
shopping in her favourite shops. Her bags (5) are carried (carry) by
the chauffeur. Mrs Wilson(6) buys (buy) a lot of things every
week. She (7) _ needs (need) lots of clothes because she goes

to lots of parties. In fact, this week she(8) has been invited(invite) to a
big birthday party which (9) Wwillbe held (hold) in a large mansion
In the country. All of her friends will be there. Mrs. Wilson

(10) is looking forward (look forward) to it very much.
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